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BEFE NERBELEENTE FE - ¥ER HEHEI—X HIEA 28 56 1.9 900 400 1300 1004.60 849.40 904.72
VEHELEEMFE BE - HER FLEEUEI-X BIEA
VEBEHREENRE BiE - HER ZEFI—X I
VEBEHREBMRE BiE - HER ZELEFI-X AR 10
NERBLEENFE S5E - H8R BEEO-X HIEA 28 49 8 1.8 900 400 1300 985.20 882.60 925.93
VEHELEENFRE 558 - HER #HRI-X HIEA 13
VERBLHEBMIE S8 - HRR REIZ2 s —>3>T0—X |FiH 7
VEBEHREEMRE BY - £FR BHFI-X BIHA 35 69 12 1.9 900 400 1300 1029.00 803.60 861.14
VEHELEEMFIE B - £FR BRI-X BIHA 12
VEHELEEMRIE B - £ER BR - BOTD<HI—-X BIEA 7
VERBHEEMRE B - £FR RERI—X BIHA 6
VEBEHREEMRE =1 - hBER FXI-X BIHA 12 12 4 3.0 900 400 1300 950.40 770.40 867.21
VEHELEBNFE =1 - ABR FiiI—X BIHA 4 1.8
VEHELEENFRE =i - AER #4EF - #RI-X HIEA 4 2.0
EHBEHEERRE BERETKR FIEL] 7 15 7 2.1 900 600 1500 - 1= %1(1065.88
P EHEREENRE HARHEBR BIHA 7 8 7 1.1 900 600 1500 - %1|- %1]1093.82
hERBHEBEMRE HFHETK BUEA 14 29 14 2.1 900 600 1500 1146.60 941.00 991.62
HEHBHEERRE BREESKR BIEA 14 20 14 1.4 1100 400 1500 1091.20 924.60 996.65
FEREHEENRE SEHEEK BIEA 8 15 8 1.9 900 600 1500 - %1|- %1]1026.25
hEHBEREEMRE EMBEBK BIHA 8 12 9 1.3 700 600 1300 - %1|- %1)889.26
hERBHEBEMRE REATEK BUHEA 8 32 10 3.2 900 600 1500 1061.00 987.20 1014.20
HEHBEHEERRE RIBETKR BIEA 8 11 6 1.8 900 600 1500 - x1 (= %1(789.76
HEHEREBNRE RERNBETR EIEL] 5 6 4 1.5 900 600 1500 - 1= %1(870.20
HEHBEHEEBMRE RERETK BIHA 7 17 7 2.4 900 600 1500 - 1= %1(1099.00
FRISZEREREENRE B REREEREI—X HIEA 20 59 6 2.8 900 400 1300 945.80 802.00 847.26
FRIBEREHEEMRE 1B R - SEREHEI1-X BIEA 5
FRIBHEREEMRE [B REREHEI—X BIHA 6
HRIEREREEMKRE [ 2R - EFREHEI-—X AR 4
FRISZEREREENRE B REEEHEI—X HIEA 20 49 5 2.3 900 400 1300 835.40 734.00 762.59
FRIBEREHEEMRE 18 IR - SEREEEI—X BIEA 6
FRIBEREREEMRE 18 REREHBEI-—X BIHA 6
PHRISZEREREEMNRIE B 2R - EFEEHEI-X AR 4
VNERBELEENTE FE - ¥ER HEHEI—X ge2:t] 12 36 2 3.0 1100 300 1400 1094.00 999.30 1030.85
VEHELEEMFE BiE - HER FLEEUEI-X 12 2
VEBEHEENRE BiE - HER ZEFI—X %A 4
VEBEHREBMRE BiE - HER ZELEFI-X & 4
NERBLEENFE S5E - H8R BEEO-X ge2:t] 13 24 4 1.7 1100 300 1400 1118.40 968.80 1022.38
VEHELEENRE 558 - HER #HRI-X 12 7
VERBLEBMME S8 - HRR REIZ2 25 —>3>0—-X |&H 3
VEBEHREEMRE BY - £FR BHFI-X Ee-2:0] 16 50 5 3.1 1100 300 1400 1120.70 930.20 981.73
VEHELEEMFE B - £FR BRI-X %5 5
VEHELEEMRIE B - £ER BR - BOTD<HI—-X 12 4
VERBLHEEMRE B - £FR RERI-X %A 2
VEBEHREEMRE =1l - hBER FXI-X Ee-2:0] 9 16 3 5.3 1000 300 1300 965.50 843.80 886.50
NEHELEBMFE =1 - ABER FiiI1—X %5 8 3 2.7
VEHELEENFRE =i - AER #4E - #RI-X 12 27 4 6.8
EHBEHEERRE BERETKR %HA 3 11 4 2.8 1200 300 1500 - 1= %1]1114.35
hEHEREENRE HARHEBR Ee-2:0] 3 5 4 1.3 1200 300 1500 - %1|- %1]1122.80
hERBHEBEMRE HFHETK ge2:t] 6 15 7 2.1 1200 300 1500 - *1[= %1(1055.74
HEHBEHEERRE BREESKR %58 6 10 7 1.4 1200 300 1500 - *1[= %1(1053.34
P EREREEMRE REHEFEK 21 3 5 4 1.3 1200 300 1500 - %1|= %1]1123.32
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